Unit 2 Quiz 1 Review

Wiite each polynomial in standard form. Identify the leading coefficient, degree and number of
terms.

1. 3x2+ éx-3x3+4 2. 2x-5+3x-2 3. 5x5—3x3 - x4

~23%343x>Yoxth 5x-"T Sx5 - x4 ~3x°
L&.~-3 il LC:S LD

Suic, Polyroried L inen Binomia Quint. Trinomiad

4. (3x2—6x +8) - (4x2+ 5x = 9) S, (3x2+1) + (4x2 + 3)

BxE-bxt 8- 4¥2-5% +9 3x24| + 4x2 43

—x2=1 %+ @; T4
6. (9%3 - 6x2) @ 2) 7. (505-ad) + (aS+ 74~ 2)

Qx3-Ux%2x3-x*-2 Sa2-a" +a” +1a -2
3 71y
T3-T6-2 | ‘b’aswgux_l
Mu!ﬁ%’\ 2 N ﬁ
8. 3x3(27x3 + 8y3) 9. 2cd4(-4csds ~ c3d) 10. (a+R)(3ab + b2 4aq)

}%\x“wﬂx-’\ﬁ\ M 3otb+ae - da*+3ab’ tb-tab
[Ba7b Y0l* - da2 4>~ fab

T N Y
1. (x=2){x + 4)2 12. (2x-3)2(x -1 13. x(x+5)2 y (X@_(_)j’v)
(X—z)(@@ ('L"z‘?’ ""3)0‘(")) X (X2 +25)
) pixaonly) (%ol X! X (X*HIOx+25)
( )%\ (4X22¢ +DRG |

3 [XHo2s)
QI et |

3 IYZ\x-32
K24 HIOX-2XbX-3
Y24 Y3E -2 mx5_\w2+2|x_q

Scanned with CamScanner



Expand using Pascal’s Triangle. Y
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Find the coefficient for the following expansion.
18. x2y3in the expansion (x + 2y)*
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Find the term of the following expansion.
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